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Exercice 1

A(−2 ; 3), B(−3 ; −1), C(0 ; 2) et D(0 ; 4) .

1)
#     »

AM =

#   »

AB+

#    »

CD :

D’une part,
#     »

AM

(

xM − xA

yM − yA

)

;
#     »

AM

(

xM +2
yM −3

)

.

D’autre part,
#   »

AB

(

xB − xA

yB − yA

)

;
#   »

AB

(

−3+2
−1−3

)

;
#   »

AB

(

−1
−4

)

; et
#    »

CD

(

xD − xC

yD − yC

)

;
#    »

CD

(

0−0
4−2

)

;
#    »

CD

(

0
2

)

.

Donc
#   »

AB+

#    »

CD

(

−1+0
−4+2

)

;
#   »

AB+

#    »

CD

(

−1
−2

)

.

#     »

AM =

#   »

AB+

#    »

CD ⇐⇒

{

xM +2=−1

yM −3=−2
⇐⇒

{

xM =−1−2

yM =−2+3
⇐⇒

{

xM =−3

yM = 1
. Donc M(−3 ; 1) .

2)
#   »

BK = 3
#   »

AC−2
#   »

BA = 3
#   »

AC+2
#   »

AB :

D’une part,
#   »

BK

(

xK − xB

yK − yB

)

;
#   »

BK

(

xK +3
yK +1

)

.

D’autre part,
#   »

AC

(

xC − xA

yC − yA

)

;
#   »

AC

(

0+2
2−3

)

;
#   »

AC

(

2
−1

)

; donc 3
#   »

AC

(

3×2
3× (−1)

)

;3
#   »

AC

(

6
−3

)

.

#   »

AB

(

−1
−4

)

d’après la question précédente, donc 2
#   »

AB

(

2× (−1)
2× (−4)

)

;2
#   »

AB

(

−2
−8

)

.

Ainsi 3
#   »

AC+2
#   »

AB

(

6−2
−3−8

)

; 3
#   »

AC+2
#   »

AB

(

4
−11

)

.

#   »

BK = 3
#   »

AC+2
#   »

AB ⇐⇒

{

xK +3= 4

yK +1=−11
⇐⇒

{

xK = 4−3

yK =−11−1
⇐⇒

{

xK = 1

yK =−12
. Donc K (1 ; −12) .
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Exercice 2

A(−2 ; 5), B(2 ; −2) et C(6 ; 3) .

1)
#   »

AE =

3

2

#   »

AC :

D’une part,
#   »

AE

(

xE − xA

yE − yA

)

;
#   »

AE

(

xE +2
yE −5

)

.

D’autre part,
#   »

AC

(

xC − xA

yC − yA

)

;
#   »

AC

(

6+2
3−5

)

;
#   »

AC

(

8
−2

)

; donc
3

2

#   »

AC







3

2
×8

3

2
× (−2)






;

3

2

#   »

AC

(

12
−3

)

.

#   »

AE =

3

2

#   »

AC ⇐⇒

{

xE +2= 12

yE −5=−3
⇐⇒

{

xE = 12−2

yE =−3+5
⇐⇒

{

xE = 10

yE = 2
. Donc E(10 ; 2) .

2)
#   »

BF =−

1

8

#   »

BA+

3

8

#   »

BC =

1

8

#   »

AB+

3

8

#   »

BC :

D’une part,
#   »

BF

(

xF − xB

yF − yB

)

;
#   »

BF

(

xF −2
yF +2

)

.

D’autre part,
#   »

AB

(

xB − xA

yB − yA

)

;
#   »

AB

(

2+2
−2−5

)

;
#   »

AB

(

4
−7

)

; donc
1

8

#   »

AB







1

8
×4

1

8
× (−7)






;
1

8

#   »

AB







1

2

−

7

8






.
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#   »

BC

(

xC − xB

yC − yB

)

;
#   »

BC

(

6−2
3+2

)

;
#   »

BC

(

4
5

)

; donc
3

8

#   »

BC







3

8
×4

3

8
×5






;
3

8

#   »

BC







3

2
15

8






.

Ainsi
1

8

#   »

AB+

3

8

#   »

BC







1

2
+

3

2

−

7

8
+

15

8






;
1

8

#   »

AB+

3

8

#   »

BC







4

2
8

8






;

1

8

#   »

AB+

3

8

#   »

BC

(

2
1

)

.

#   »

BF =

1

8

#   »

AB+

3

8

#   »

BC ⇐⇒

{

xF −2= 2

yF +2= 1
⇐⇒

{

xF = 2+2

yF = 1−2
⇐⇒

{

xF = 4

yF =−1
. Donc F(4 ; −1) .

�

Exercice 3

I(−1 ; 3) et J(1 ; −2) .

#   »

MI +2
#    »

MJ =
#»

0 :

D’une part,
#   »

MI

(

xI − xM

yI − yM

)

;
#   »

MI

(

−1− xM

3− yM

)

.

#    »

MJ

(

xJ − xM

yJ − yM

)

;
#    »

MJ

(

1− xM

−2− yM

)

; donc 2
#    »

MJ

(

2(1− xM)
2(−2− yM )

)

;2
#    »

MJ

(

2−2xM

−4−2yM

)

.

Donc
#   »

MI +2
#    »

MJ

(

−1− xM +2−2xM

3− yM −4−2yM

)

;
#   »

MI +2
#    »

MJ

(

1−3xM

−1−3yM

)

.

D’autre part,
#»

0

(

0
0

)

.

#   »

MI +2
#    »

MJ =
#»

0 ⇐⇒

{

1−3xM = 0

−1−3yM = 0
⇐⇒

{

1= 3xM

−1= 3yM

⇐⇒











xM =

1

3

yM =−

1

3

. Donc M

(

1

3
; −

1

3

)

.
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Exercice 4

A(−2 ; 1) et B(3 ; 3) .

2
#   »

P A+3
#   »

PB =

#   »

AB :

D’une part,
#   »

P A

(

xA − xP

yA − yP

)

;
#   »

P A

(

−2− xP

1− yP

)

; donc 2
#   »

P A

(

2(−2− xP )
2(1− yP )

)

;2
#   »

P A

(

−4−2xP

2−2yP

)

.

#   »

PB

(

xB − xP

yB − yP

)

;
#   »

PB

(

3− xP

3− yP

)

; donc 3
#   »

PB

(

3(3− xP )
3(3− yP )

)

;3
#   »

PB

(

9−3xP

9−3yP

)

.

Donc 2
#   »

P A+3
#   »

PB

(

−4−2xP +9−3xP

2−2yP +9−3yP

)

; 2
#   »

P A+3
#   »

PB

(

5−5xP

11−5yP

)

.

D’autre part,
#   »

AB

(

xB − xA

yB − yA

)

;
#   »

AB

(

3+2
3−1

)

;
#   »

AB

(

5
2

)

.

2
#   »

P A+3
#   »

PB =

#   »

AB ⇐⇒

{

5−5xP = 5

11−5yP = 2
⇐⇒

{

5−5= 5xP

11−2= 5yP

⇐⇒

{

0= 5xP

9= 5yP

⇐⇒











xP =

0

5

yP =

9

5

⇐⇒







xP = 0

yP =

9

5

.

Donc P

(

0 ;
9

5

)

.
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